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Child Development and Pedagogy
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1. InInclusive education :

(A) There are normal classroom
teachers.

(B) There are special instructors.

(C) There are regular processed
teachers.

(D) There are both normal classroom
teachers and special instructors.

2. Which test is most appropriate for
teachers to identify the errors or
mistakes of the students ?

(A) Diagnostic test

(B) Achievement test
(C) Standardized test
(D) Teacher made test

3. The chronological age of a child is 8
years and mental age is 10 years, then
what will be the intelligence quotient of
the child ?

(A) 80 (B) 125
(C) 100 (D) 120
4. Which one of the following quality of
teacher will enhance ieaming ?
(A) Communicating ability
(B) Motivation ability
(C) Guiding ability
(D) Physical personality
5. The objective method of Personadity

measurement is :
(A) Observation (B) Interview
(C) Rating scale (D) Case-study

P.T.O.
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6. What a teacher should not do to shape
an inclusive classroom ?

(A) Teacher must be proficient in his
subject. 7

(B) Student's individuality should be
respected.

(C) Teacher should have a strict and
conservative approach towards
students.

(D) Teacher should be interested in
co-curricular activity.

7. Kohlberg has gi{/en the following levels
of moral develo;’iinent x
(A) 3 (B) 4
(C) 6 (D) 5

8. The best way for a teacher to make
his/her students learn :

(A) By giving a good lecture

_ (B) By showing the model

(C) By using over head projector in
~ teaching

(D) By educational excursion

9. Match correctly :

Disability Disorder
{a) Learning disability (i) Dyspraxia
(b) Verbal leaming (i) Dyscaiculia

disability
(c) Writing disability (it} - Dyslexia
{d) Mathematical (iv) Dysphasia
ieaming disability
Codes : ‘.
(@) (b) -(c) (d)
(A) (i) @ @) (iv)
(B) (i) (v) () (i)
(€) f(v) (i) (i) (i)

w Oy () i) (i) (iv)
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The term comprehensive evaluation in
continuous and comprehensive
evaluation means :

(A) Evaluation of all subjects
(B) Evaluation of educational area

(C) Evaluation of educational and

co-educational area

(D) Evaluation of co-educational area

The stage from 7 to 12 years is called :
(A) Infancy (B) Late-childhood

(C) Adolescence (D) Early-childhood

Law of Readiness is related to :

(A) Operant Conditioning theory

(B) Classical Conditioning theory

(C) Sign-Learning theory

(D) Trial-Error theory

In which state, suggestibility found the
highest ?

(A) Adolescence

(B) Late-childhood

(C) Early-childhood

(D) Infancy

Creativity is a/an ............ L
(A) Innate ability
(B) Mental ability
(C) Traditional ability
(D) Ability to solve question
P.T.O.
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A child's curiosity is called =

(A) Attitude -

(B) Defence Mechanism -

(C) Feeling -

(D) Self Cbné:ept

A child holding the Pencil by using his

fingers and thumb shows which
principle of development ?

(A) General to Specific
(B) Sbeciﬁc to General
(C) Principle of Continuity
(D) None of the above

Reaching conclusions = through
examples-and facts comes under which

teaching method ?
(A) Deductive Method

| (B) Analytic Method

18.

(C) Inductive Method
(D) Lecture Method

According to Piaget, at which stage of
cognitive development does a child
start arranging different objects in a
sequential manner in view of some of
their characteristics ?

(A) Concrete-operational stage
(B) Sensory-motor stage

(C) Pre-operational stage

g (D) Formal-operational stage
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What is the significance of “feedback"

in classroom ?

(A) It is part of
requirement.

(B) Inform parents about
levels of children.

(C) Scope for introspection.and further
improvement.

administrative

learning

(D) To approve school grants.

if a mentally retarded child is found in
the class, what should a teacher do in
such situation ?

(A) Such a child should be insulted for
not answering.

(B) Teaching pace should be kept slow
and the lesson taught should be
repeated again and again.

(C) Teaching should be carried out at
normal pace.

(D) Ignoring the retarded child, teacher
should concentrate on completing
the lesson.

Cephalocaudal

development is :

(A) Head — Trunk — Hand —> Leg

(B) Head —>» Hand —> Leg —> Trunk

(C) Head —> Neck — Mouth — Hand

(D) Mouth —> Neck —> Trunk —> Head

sequence of motor

In which stage of teaching the Lesson
Plan is prepared by the teacher ?
(A) Pre-active phase of teaching
(B) Inter-active phase of teaching
(C) Post-active phase of teaching
(D) None of the above :
P.T.0.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON
Google Play

ﬁ (8]

XXIv-2
23. fafre I & Aoft § o B - 23. Exceptional children category includes :
(A) SRR 995 (A) Gifted children
(B) H9T% &Y ¥ Rftra ams (B) Emotionally disturbed children
(C) TS #f=d 9% (C) Mentally retarded children
(D) SqUFT TN (D) All of the above
24. 9w gbear & fher oo @ 24. Conditioned Response theory s
T4 e propounded by : :
(A) dFeES & (A) Thorndike
(B) UEdIE &N (B) Paviov
(C) RE=x ™ (C) Skinner
(D) I & | FE A (D) None of the above
25. qEH B oY A HA H YR 25. The method of finding out the interest
of children is:
(A) s Fi frarett & e arn (A) By observing the children's activities
(B) IH BRI U8 A 4l & AER W (B) On the basis of questions asked by
children
(C) g i qdwvlt &r (C) By standardized interest tests
(D) IRE a9 (D) Allof the above
26. ‘T /-9 AW HER B FIOA 9 26. “"Children actively construct knowledge
g & 3 a9 o # e s &” as they manipulate and explore their
T8 T a2 7 world." Whose statement is this ?
(A) TEAT (B) T (A) Spearman (B) Terman
(C) fE=t (D) fa (C) Piaget (D) Binet
27. o gfem # Freafofea & 8 e 27. Which of the following should be kept in
T TBR AE TG 9y ? mind in the teaching process ?
(A) fenfiat it afFa |ewiian (A) Active participation of students
(B) fawa 3| = #eTE W (B) Difficulty level of the subject matter
(C) FFgames A Frafva sufafa (C) Discipline and regular attendance
(D) Ted i WA (D) Checking home-work
SET-C ﬁ
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28. The correct sequence of motivational
needs propounded by Maslow is :

(i) Physiological needs
(i) Belongingness and love needs
(iii) Needs for self-actualization
(iv) Esteem needs
(v) Safety needs
(A) () (i) (v) (iv) (iii)
(B) (i) (i) (ii) (v) (iii)
(C) (i) (v) (ii) (iv) (iii)
(D) (i) (v) (i) (i) (iv)
29. A statement - "The system of
education for girls should be such that it

helps them to become only a good
homemaker and an ideal mother", itis :

(A) A research based judgement.
(B) True judgement.

(C) A gender biased judgement.
(D) All of the above

30. Knowledge of heredity and environment
is essential for a teacher, because :

(A) 1t is helpful in understanding the
individual differences of children.

(B) It is helpful in identifying the ability
of children.

(C) It is helpful in understanding the
interest and inclination of children.

___ (D) All of the above

P.T.O.
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XXIV-2
First Language - English
31. In which of the following question tag is 35. These mangoes are almost ripe.
incorrectly put ? Identify the part of speech of the
(A) They came here yesterday, haven't underlined word :
they ? (A) Noun
(B) Your brother plays guitar. Doesn't (B) Adjective
he ? (C) Verb
(C) You live nearby. Don't you ? (ENREeD
(D) You don't speak Tamil. Do you ? 36. Turn the following into indirect speech :
'So help me heaven !I' he cried, 'l will
32. When language is learnt naturally and never steal again'.
Tmthout any systematic practice, then it (A) He applauded heaven to witness
is called as : his resolve never to steal again.
(A) First !a.n.guage (B) Dearth (B) He was angry at heaven to witness
(C) Acquisition (D) Erudition his resolve never to steal again.
33. The multilingual nature of the Indian © Hg seliert upots Noglon (0 Wikaes
classroom must be used as a resource (N8'yeeoMe nover 10 Stal agaln:
so that - (D) He commanded heaven to witness
(A) Every child feels secure his resolve never to steal again.
comfortable and accepted —— | =5
(B) Everychild Teanis® atithe ‘eame 7. Fill in the blanks with suitable form of
pace verb :
(C) Children may learn many Let's waittill he ............. ... his home.
languages (A) reach (B) reaches
(D) The teacher develops language (C) will reach (D) is reaching
proficiency
S ! : 38. Choose the most suitable word for the
34. Change the given Active Sentence into _
Pasehia: given phrase :
The enemy has defeated our army. Study of language is calied.
(A) Our army has been defeated. (A) Theology
(B) The army have been defeated. (B) Philology
(C) Our army have been defeated. (C) Acoustics
(D) Our army was defeated. (D) Ecology
SET-C
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Fill in the blank with appropriate
preposition :

He was born humble

...............

parents in Nasik.
(A) to
(C) into

(B) in
(D) from

Identify the figure of speech used in the
given sentence :

There was a deafening silence in the
hall.

(A) Oxymoron
(B) Antithesis
(C) Metaphor
(D) Hyperbole

Choose the most appropriate option for
the following :

greatest of journey begins
small step.

--------------

(A) the, a
(B) the, the
(C) a,a
(D) a, the

From the following options, pick out the
one which is noft an idiom :

(A) hold a candle
(B) hold your finger
(C) hold your horses
(D) hold your tongue
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43. The classical method of language

learning and teaching is called :

(A) Grammar translation method

(B) Audio-lingual method

(C) Direct method

(D) Communicative Language Teaching

Select the most suitable word from the
given options that donvey the meaning
of the underlined word :

She is a vivacious girl.

(A) Sincere

(B) Loyal

(C) Beautiful

(D) Lively

Two vowel sounds that are pronounced
together to make one sound is called :
(A) Intonation

(B) Bilabial

(C) Diphthong

(D) Penultimate syllable

Direction (Q. No. 46 to 50) : Read the poem
given below and answer the questions that
follow by selecting the most appropriate
option :

Weavers, weaving at break of day,

Why do you weave a garment so gay ?

Blue as the wing of a bluebird wild,

We weave the robes of a new-born child.
Weavers, weaving at fall of night,

Why do you weave a garment so bright ?

Like the plumes of the peacock, purple and
green,

P.T.O.
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We weave the marriage veils of a queen.
Weavers weaving solemn and still,
What do you weave in the moonlight chill ?

White as a feather and white as a cloud,
We weave a dead man's funeral shroud.

46. What do the weavers weave in the

chilly moonlight ?

(A) a garment light as a feather.

(B) a garment meant to cover a dead
man.

(C) a garment to keep away the chill.

(D) a garment to wrap a new born child
in.

47. The three stages of life mentioned in

the poem are :

(A) infancy, childhood, senility

(B) infancy, youth, death

(C) infancy, adolescence, middle age
(D) childhood, aduithood, senility

What do the weavers weave in the
early morning ?

(A) a bright blue cloth
(B) a dull grey cloth
(C) a soft white cloth
(D) a red coloured veil

49.

................

coloured.

- is purple and green

(A) dress of the weavers

(B) dress of a new-born child
(C) queen's marriage veils
(D) robe of a king |

SET-C
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50. Whom does the poet address in the
poem ?
(A) weavers
(B) children
(C) queens

(D) all of the above

Direction : (Q. No. 51 to 55) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option :

Many people believe that science and religion
are contrary to each other. But this notion is
wrong. As a matter of fact, both are correlated
to each other. There is no doubt that the
method of science and religion are different.
The method of science is observation,
experimentation and experience. Science
takes its recourse to progressive march
towards perfection. The rules of religion are
faith, intuition and spoken word of the
enlightened.
inclined

In general, while science is
towards rationality,
spiritualism is the essence of religion.

reason and

51. Find the synonym of the word ‘belief' in
the given passage :
(A) observation = (B) experience
(C) faith (D) enlightened

52. A notion is afan:

(A) idea (B) observation

(C) experience - (D) faith
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According to the passage, science and
religion are :

(A) contrary to each other

(B) contradictory to each other

(C) complementary to each other

(D) correlated to each other

Which of the following cannot be

deduced from the passage ?

(A) Science is based on
experimentation and reason.

(B) Science and religion aren't contrary
to each other.

(C) Science has an edge over religion.

(D) Though correlated, the methods of

science and religion are
undoubtedly different.
Which is the nearest meaning of
‘intuition’ ?
(A) liking (B) instinct
(C) hope (D) gratitude
Which of the following is spelt
correctly ?

(A) Philantrophy (B) Onomatopoeia
(C) Panacaea (D) Chronich

Choose the most suitable option that
describes the meaning of the
underlined idiom or phrase :

| am told he has got into hot water.

(A) out of favour from someone
(B) out of danger

(C) into action

(D) into trouble

[17]
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58. Which of the following first formulated

the ‘Three Language Formula' ?

(A) National Policy on Education 1968

(B) National Policy on Education 1986

(C) Chattopadhyaya Commission 1966
(D) Kothari Commission 1985

Arrange the following to make a

meaningful sentence :

as you listen/ to note down/ points/ it is
important

(A) To note down it is important as you
listen points.

(B) As you listen points it is important
to note down.

(C) It is important to note down points
as you listen.

(D) It is important as you listen to note
down points.
‘Brainstorming' technique is useful for :

(A) overcoming the
spelling

problems of

(B) helping students in forming new
sentences

(C) improving students' spontaneous
sensitivity

(D) developing learners' vocabulary

P.T.0O.
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Second Language - English

Direction : (Q. No. 61) : Choose the word with
the correct spelling :

61. (A) Affedevit
(B) Afidevit
(C) Affidevit
(D) Affidavit

Direction : (Q. No. 62 & 63) : Fill in the blanks
by selecting the appropriate option :

62. This work ought to have ............... long

ago.
(A) done (B) had done

(C) beingdone (D) been done -

63. Man cannot live .......... bread alone.
(A) except (B) with
(C) by (D) without

Direction : (Q. No. 64) : In the following
sentence choose the synonym to the
underlined word :

64. They were totally unaware of the
impending disaster.
(A) Possible
(B) Terrible
(C) Imminent

(D) Threatening

serc B

65. A language classroom with special
needs ideally :

(A) has extra teachers to help regular
teachers

(B) exclusively furnished
(C) located separately

(D) integrates all types of learners

Direction : (Q. No. 66) : Change the following
into indirect speech by choosing correct
alternative : '
66. He said, "What a cold day !"
(A) He asked if it was a cold day.

(B) He said that it was a cold day.

(C) He exclaimed with surprise that it

was a cold day.

(D) He exclaimed that it was a very
cold day.

67. The primary objective of using role play

is :
(A) to evaluate dialogue writing skill
(B) to promote the reading habit

(C) to improve the communicative

competence

(D) to develop acting talent
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Direction : (Q. No. 68) : In the following
sentence choose the antonym to the
underlined word : ;

68. The story sounds phoney to me.

(A) True (B) Interesting
(C) Funny (D) Impressive
Direction : (Q. No. 69) : Choose the most

suitable option that describes the meaning of
the following idiom :
69. To hit below the belt :
(A) To punish
(B) To tie with a belt
(C) To hit with a beilt
(D) To aftack unfairly

Point out the figure of speech in the
following sentence :

70.

'Here's the smell of the blood still,
all the perfumes of Arabia will
not sweeten this little hand'.

(A) Metaphor (B) Hyperbole

(C) Oxymoron (D) Personification
Direction : (Q. No. 71 to 75) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option :

There is- a general consensus that
'International Understanding’ need to be taught
as a separate subject at the school stage as
that would add to the curricular load which is

SET-C
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already too heavy. Instead it should be woven
into the curriculum and the numerous
opportunities that present themselves while
teaching normal school subjects may be
intelligently and imaginatively used. by the
teacher to promote
Understanding. The school subjects which can
be most profitably used for this purpose are
History, Geography, Civics, Economics,
Sociology, Political Science, Social Sciences,
Languages as well as Physical and Life
Sciences. However, at the higher education
level, international education can be
prescribed as a separate subject of study. In
fact, the present situation in India broadly
conforms to this consensus so far as the
school stage is concerned. At the under-
graduate and the post-graduate levels,
courses of study in subjects like History,
Geography, Economics, Political Science,
International Relations, International Law and
International  Organisation have  been
prescribed by most of the Universities and
these contain content which has a direct or
indirect bearing on promoting UNESCO ideals.

International

71.  How can Intemational Understanding be

taught at the school level ?

(A) Through various- subjects like

History, Civics, Geography, etc.

(B) By giving numerous opportunities
to the students

(C) By combining the subject content
ﬁ with the curriculum
(D) All of these

P.T.O.
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Which phrase from the passage means
“combined with the curriculum™ ?

(A) Intelligently and imaginatively used
in the curriculum

(B) Can be prescribed in the
curriculum

(C) Woven into the curriculum
(D) None of these

What are the two stages where

“International Understanding" should be

taught as a separate subject ?

(A) Primary and Secondary stage

(B) Under-graduate and Post-graduate
stage

(C) Secondary and Under-graduate
stage

(D) Post-graduate and Doctoral stage

Which word from the passage means
‘agree with' ?

(A) bearing (B) conforms

(C) consensus (D) ideal

Which of the following statements,
based on the passage, is not true ?

(A) International understanding should
be woven into the school
curriculum,

(B) Curricular load is quite heavy.

(C) At the higher education level,
international education should not
be a separate subject of study.

(D) Some courses of study in
Humanities contain content that
promotes UNESCO ideals.
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Direction : (Q. No. 76) : Identify the segment
in the given sentence which contains a
grammatical error. If there is no mistake, the

answer is 'No error' :

76. No sooner the advertisement appeared /
(A) _
in the newspaper / than there was a
(B)
rush on the booking window. / No error
(©) (D)

Direction : (Q. No. 77) : Complete the following
sentence by selecting the appropriate modal :

A s you like to have tea or coffee ?
(A) Could
(B) Would
(C) Can
(D) Wil
78. Identify the correct Passive Voice of the
sentence :
Obey me.
(A) | should be obeyed.
(B) Let | be obeyed.
(C) Both (A) and (B)

(D) None of these
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79.

Instead of asking questions and getting
answers from her learners, a teacher
gives some short texts and asks her
learners to frame questions. Her
primary objective is to :

(A) take their help during examinations

(B) make the learners realize the
difficulties faced by teacher in
preparing question papers

(C) enhance the learners' analytical
and critical thinking

(D) train the learners as good question
paper setters

Direction : (Q. No. 80) : Select the correct
alternative which can be substituted for the
given sentence :

80.

-81.

SET-C

A person who thinks only about himself
and not about others' needs.

(A) Egocentric
(B) Egomaniacal
(C) Egoistic

(D) Egotistic

Under constructivist approach to
language learning, learners are
encouraged to :

(A) discover the rules of grammar from
examples

(B) avoid errors completely

(C) practice language drills
mechanically

(D) learn the grammar rules by rote
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Google Play

(251 35 XXIV-2
Direction : (Q. No. 82) : Fill in the blank with
suitable determiner :

82. Thankfully, | have got ............ friends
- with whom | can spend my weekend.
(A) afew
(B) few
(C) little
(D) a little

83. Scanning and skimming are strategies
for:

(A) speaking
(B) thinking
(C) reading
(D) writing
84. A common developmental reading
disorder is :
(A) impairment
(B) dyslexia
(C) aphasia
(D) autism
85. Choose the noun form of 'select’ :
(A) Selective
(B) Selecting

(C) Selection

(D) Selected

ﬁ P.T.O.
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Direction : (Q. No. 86 to 90) : Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option :

An old shepherd was playing on a flute on
the marshlands outside Rome. He played so
sweetly that a lovely fairy came and listened to
him. "Will you marry me, and play to me in my
castle ?" she said. "Yes, yes, lovely lady !"
said the shepherd. The fairy put a ring on his
finger. At once he became a handsome young
man dressed in princely robes. "But | must go
to Rome and bid farewell to my friends®, he
said.

The fairy gave him a golden coach with
twelve white horses. As he rode in State to
Rome, he met the young Queen of Italy, who
invited him to her palace. The shepherd saw
that he had won the Queen's heart. He
resolved to marry her and become the King of
ltaly and let the fairy go. So, when he and the
Queen were alone together, he knelt down
and took her hand saying : “Marry me, dearest
and | will help you to govern ltaly." But as soon
as he spoke, he turned into an old man and
rugged shepherd.

"What is this horrible beggar doing here ?*
cried the Queen. "Whip him out of the palace."

86. The fairy wanted to marry the
shepherd, because :

(A) he was very handsome
(B) he had saved her life

(C) he could play sweetly on his flute
and she loved it

(D) the shepherd loved her
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When the fairy put a ring on his finger,
the shepherd :

(A) disappeared

(B) changed into a handsome youth
(C) married her

(D) turned into a statue

Find out the word from the passage
which means 'dreadful :

(A) whip

(B) handsome

(C) horrible

(D) beggar

When the shephérd reached Rome,
he:

(A) planned to marry the Queen of Italy
(B) met his friends there

(C) sought his parents' permission to
marry the fairy

(D) met the King of Italy

The Queen ordered the shepherd to be
whipped out of the palace, because he :

(A) refused to marry her
(B) he turned old and ugly
(C) tried to steal her jewels

(D) revealed his plan to marry the fairy
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UINSREREEIR

Mathematics and Science

TR R @ SR TR @ R RiEs 91.
B F G

(A) TRTE ¥ TR B A

(B) 7fafafy o stwms & Fe@r
Eil

(C) =t B o T&YH F A

(D) I9dF T+t

R x3+x%-17x+15 | @ PHES 92.
(x—3) &, & e Bel

(A) -2 (B) +3

C) = (D) +1

a® AABCH %AA+%ZC+%£B=80° 93.
2, ar zC 2m :

(A) 70° (B) 60°

(C) 50° (D) 100°

A o PR F HEEH FHOER S o 94.
TG FANEE HA: 12 A 72 B AR
@ dem 24 @, @ A wemssi w;
R B

(A) 18 (B) 12
(©) 21 (D) 24

%ﬁm%@@m‘tﬁsﬁrgﬂ 95.

T FH J T g H gew
(A) 1947 (B) 1857
(C) 2000 (D) 1700

What should be done by a teacher to
make Maths teaching interesting ?

(A) to give space to recreation in
Mathematics

(B) promoting activity based learning

(C) give space to children for
knowledge demonstration

(D) all of the above

If (x - 3) is a factor of x® + X2 —17x +15,
then remainder will be :

(A) -2 (B) +3
(C) zero (D) +1

In AABC, if ~ A+ ,C+ LsB=-80°,
e 2

then ~C will be:

(A) 70° (B) 60°

(C) 50° (D) 100°

Greatest common divisor and least
common muiltiple of two positive

_integers are 12 and 72 respectively. If

one number is 24, then the difference
of numbers is :

(A) 18 (B) 12
(C) 21 (D) 24

Number of rounds in travelling 4 km by
a tyre of diameter % m will be :

(A) 1947 (B) 1857
(C) 2000 (D) 1700
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96. AR a:b=3:5TM b:c=7:88, @ 96. fa:b=3:5and b:c=7:8, then
2a:3b:7c BF0 : 2a:3b:7c will be:

(A) 40:15:6 (A) 40:15:86

(B) 6:40:15 (B) 6:40:15

(C) 6:15:40 (C) 6:15:40

(D) 15:6: 40 (D) 15:6:40

97. W REer & ARt & d@dg § fr § 97. The false statement about the methods
oy F ¢ of Teaching Mathematics is :

(A) srmEe Ry F e 8 aw # (A) In, Inductive method we proceed
3 R S & A B S 2 from ‘particular to general'.

(B) Frrm Ry & G | Rt & (B) In, Deductive method we proceed
AR R g3 & w4 B S R from 'general to particular’.

(€) sgeus Ry & zw fafdd (C) By using the Heuristic method
e o TR gfedr @ scientific and mathematical attitude
fawrg & B can be developed in students.

(D) & § HIE T (D) None of these

98. IR frl Twag Prw & FaE V3 98. If height of an equilateral triangle is

&, @ gfg 8o V3 cm, then its perimeter will be

(A) 7 3 (A) 7cm

(B) 6 & (B) 6cm

(C) 5% (C) 5¢em

(D) 5V3 & (D) 5v3em

99. qﬁx:y=1:3,y:z=5:k6m'z:t= 99. Ifx:y=1:8, y:z=5:kandz:t=
2:5TU t: x=3:4, T k% A BT : 2:5and t: x=3: 4, then the value of
kis:

(A) 1/3 (B) 1/2 (A) 1/3 (B) 1/2

(C) 2 (D) 3 (C) 2 (D) 3
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X8 X 8 g A FHm (2, -5)
AR (-2,9) ¥ TET ® :

(8) (0,-7)

(D) (0,7)

frm Tl TelEl AR s @ g
FA P U AEEE & 7

(A) Iucie ThE
(B) & fRmeor

(C) T: WS

(D) STERIES fameT

(A) (-7.0)
(©) (7,0)
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(A) T T
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(C) &waTg Brgwt &
(D) 37 § $g &
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If 'a is an even positive integer and 't
is an odd positive integer, then the true
statement is :

(A) a(b-1)is odd

(B) (a-1) (b-1)is odd

(C) a(b-1)is even

(D) (a+1) (b+1)is odd

Find the point on the x-axis which is
equidistant from (2, -5) and (-2, 9) :

(A) (7.0) (B) 0.-7)

(C) (7.0) (D) (0,7)

What is necessary to remove learning
related mistakes and lacunae ?

(A) achievement testing

(B) micro teaching

(C) revision

(D) remedial teaching

If perimeters of a square, circle and
equilateral triangle are same, then
minimum area will be, of :

(A) Square
(B) Circle
(C) Equilateral triangle

(D) None of these
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104. 7T fT H " B 104. Importance of Mathematics teaching is
in:

(A) e @ a8 & (A) Concept & Logic

(B) fasm= & (B) Science

(C) (A) T (B) At (C) Both (A) and (B)

(0) ¥ | FE 78 (D) None of these
105. 73 3 g # P ARG & 105. Those events of human life where the

% gaiiys IgaeT e 3, 9 R -

(A) s
(C) Tmo®

(B) HiEH®
(D) FRIAES

maximum use of Mathematics s
observed :

(A) Economic

(C) Social

(B) Cuitural
(D) Psychological

106. R B Rg-g™ & A I & & 106. Number of circles through a pair of
der ¥ given points :
(A) 1 (B) 2 (A) 1 (B) 2
(C) ¥ (D) 4 (C) infinite (D) 4

107.

T § IR R B 0 S S
5

(A) T fRreor Rt
(B) F=1 daGH @ Argdl
(C) FFEX = IF@M
(D) ¥ & Fg 7

107.

At present, one of the main problem in
Mathematics teaching is :

(A) Pedagogy of Maths teaching
(B) Ability of class control

(C) Use of Computer

(D) None of these

108. TH T X H A M B 9T Y= (X-4)/5 108. If mean of a variable X is M, then mean
% WA BF of variable Y = (X—4)/5 will be :
(A) M (B) (M- 4)/5 (A) M (B) (M- 4)/5
(C) M-5 (D) M-4 (C) M-5 (D) M—4
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(A) 27:8
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R x:y=7:58, A (5x-2)): (3x+2y)
& : o
(A) 25: 31
(C) 31:42

(B) 31:25
(D) 42: 31

2.4,6,8,...2n ¥ A9 & :
(A) n (B) n-1
(©) n+1 (D) 2n-2

g x=2+43, @ (x2¥x'2) H AN
BT :

(A) 11
(C) 18

(B) 12
(D) 14

IR 7 T FYE WA g & S X
& ORAE g B, a o B

(A) oA (B) oIt

(C) ¥ ™ (D) Safedg
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Correct relation for the numbers 10, 7,
8,56,85,86is:

(A) mean = median
(B) mean > median
(C) mean < median

(D) mean > mode

If the ratio of radii of two spheres are
2 : 3, then the ratio of their volumes will
be:

(A) 27:8
(C)2:3

(B) 8:27
(D) 3:2

If x: y=7:5, then (5x — 2y) : (3x + 2y)

~ willbe ;
(A) 25:31 (B) 31:25
(C) 31:42 (D) 42 :31

Average of 2, 4,6, 8, .....,2nis:
(A) n (B) n-1
(C) n+1 (D) 2n-2

If x=2++43 , then the value of
(x? +x72) will be :
(A) 11
(C) 13

(B) 12
(D) 14

if 'r'is a non-zero rational number and 'x'

an irrational number, then 'rx' will be :
(A) rational (B) integer

(C) only zero (D) irrational
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(A) 4
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2/3, 7/9, 14/15 F TgAH THIIEE © :

(A) 7/3
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wF guieEg B @ o, S
Y% S P F 15° kg B didpor

B
(A) 65°
(C) 55°

(B) 70°
(D) 75°

i 2x* +3x3 -2x2 +3x+6 T (x+2)
9t ¥, @ WS B

(A) (2x3+x%-3)
(B) (2x°-x%+3)
(C) (x3 +x2 +1)

D) (2x°+x%+1)

8 T % U@ 6 Y I T@Hew F B
A dew

(A) 14 (B) 16
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T[41]
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Real values of x, for which |x| < 3, is :
(A) 3<x<3 (B) x<3
(C) x2-3 (D) only x=0

The largest integer which can divide the

product of -any four consecutive
integers, is :

7 Y (B) 24

(C) 8 (D) 12

Least common multiple of 2/3, 7/9,
14/15is:

(A) 7/3
(C) 14/3

(B) 2/3
(D) 1/3

In an isosceles triangle, upper vertex is
15° more than both the base angles.
Then upper vertex will be :

(A) 65° (B) 70°
(C) 55° (D) 75°

If 2x*+3x®-2x%+3x+6 is divided
by (x + 2), then quotient will be :

(A) (2x° +x% -3)
B) (2x°-x?+3)
(C) (x3 +x2 +1)

0) (2x°+x2+1)

The number of edges in a polyhedron
having 8 faces and 6 vertices will be :

(A) 14 (B) 16
(©) 12 (D) 7

P 50,
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=&

e 3 S90 B (Bed) 3 9w S
HRY SR-qFF B AT T A E, T
[ &

(A) JEEE

(B) =ATeTH AR
(C) TS SR
(D) & & g T

(A) T S T
(B) gef & 99 §

(C) 9=l & |aE W

(D) 95 % w® § T

e, Frr § @ e d@o 3 R
T HE FLT 8 7

(A) =81

(C) &am

(B) FHet
(D) T &t

TF THFAT N ded T &l o 2
(A) 91 3 TEHE T9E B B
(B) 9T % TERMS J9E 3 H
(C)m%mqm%m

(D) g1 & Mo THT B BT
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The charges that accumulate near the
upper edges of clouds during a
thunderstorm are :

(A) Neutral

'(B) Positively Charged

(C) Negatively Charged

(D) None of these

The epicentre of earthquake is situated
at:

(A) core of earth

(B) in the middle of earth

(C) surface of earth

(D) above the surface of earth

The rockets work on the principle of

conservation of :
(A) Mass (B) Energy

(C) Momentum (D) All of these

A glowing bulb becomes warm due to :
(A) Magnetic effect of current

(B) Chemical effect of current

(C) Heating effect of current

(D) Physical effect of current
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SET-C

=

frfafed & & @9-91 & @*F 3 [WQ
wamw 2 ?

(A) B § 91
(B) J& BT &I

(C) i st
(D) i & &W a5

W Y U qEEd $H H TEE #
gawal geid ¢, o1 39 # A ¢

(A) Fo B

(B) wedt &

(C) smftaffa it 2

(D) sma 78 H 1 g &

frefefed & § P9-a1 @ FRR W
¥ a0 B A R FA ARy sEe
FI & ?

(A) BT ' (B) afar
(C) ¥gffas (D) 9

Rt &t sfrm FieaEal @ e 3
e faeme B & B g & R
g FH S ARy ?

(A) T& R
(B) =& fRmEer
(C) FeEmes R

(D) IqETUEE T

[43]
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Which one of the foliowing is best for
health ?

(A) Roasted seeds
(B) Boiled seeds

(C) Sprouted seeds
(D) Wet swollen seeds

When you increase the loudness of the
ringtone of your mobile phone, the
frequency of ringtone :

(A) Increases
(B) Decreases
(C) Remains same

(D) Cannot be determined

Which of the following material typically
offers the least resistance to electric

_current ?
(A) Gold (B) Copper
(C) Aluminium.. . (D) Siiver

128.

Which type of teaching should be
planned after diagnosing the learning
difficulties of the students in science

teaching ?

(A) Microteaching

(B) Team teaching

(C) Diagnostic teaching
(D) Remedial teaching

P.T.0.
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129. F- #A 9N P U TG B 129. Naphthalene balls used to repel moth

1 | Mo o e and insect is derived from :

(A) UgiicEs & (A) Petroleum

(B) 9t & ~ (B) Sugar

(C) Faar & (C) Coaltar

(D) LPG & (D) LPG
130. TF Y] SRS TR B 130. A spore producing plant is :

(A) TR (B) g (A) Rose (B) Potato

(©) ¥z A (D) FEH (C) Bread mould (D) Ginger

131. fAeicied & & gEm A& & @ q 131. Which of the following is the
oy Shm T PR B 7 appropriate statement for Information

Technology ?

(A) FE g e B TEE B (A) Information technology refers to
o =gy X dEdaT & IR the use of hardware and software
FA P HEART H B for processing information.

(B) ¥I Srenfie gan 3 faaor 3 (B) Information technology refers to
T #Eday SN gifeday & WM the use of hardware and software
T F HhT @ B for distribution of information.

(C) ga1 daifE  FHE JER @ (C) Information technology refers to
gEaell & dSww, O M, the use of hardware and software
T S faawer & fou wEea for storage, retrieval, processing
AR dAady & IWE FA D and distributing information of
geRla & B many kinds.

(D) 378 § FE & : (D) None of these-

sevo 5
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132. fr=fofeg & ¥ fFed o9 awor &wan

waifees 8 2 7
(A) fortt Pt
(B) el P&
(C) ame fd
(D) ®l F FwHA FHA B B

133, @8 & 577 @ R O
(A) s TR
(B) THREMS uRE
(C) (A) T (B) Al
(D) & § =g T

134. FHiq o fiserg B
(A) @i 3R = A
(B) i I Riw &
(C) fi% oY fest #it
(D) e 3R o7 &

135. RefW o & Fean ® ¢
(A) GrareTs v
(B) i 27 I A
(C) TR Fiw F A A

(D) FEFF A
SET-C

GET IT ON
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132. Which of the following has the highest

water holding capacity ?
(A) Ciay soil

(B) Sandy soil

(C) Loamy soil

(D) All has equal capacity

133. Rustingofironisa:
(A) Physical change
(B) Chemical change
(C) Both (A) and (B)

. (D) None of these

134. Bronze isan alloy of :
(A) Copper and Tin
(B) Copper and Zinc
(C) Zinc and Tin
(D) Brass and Tin

135. Vitamins and minerals are referred as :
(A) Protective food
(B) Energy giving food

(C). Body building food.

& (D) Fatty food

P.T.0.
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(A) v
(B) gT«
(C) g9 ad

(D) % | HE 7é
et & ST W e 3R §

(A) Rrenfidt @ A fivw & e
o AT 3

(B) @Y & uw uftewsl F & R
fRrenfefgl @ oraET IuTE O

(C) IR GoAIHS DY F T FA
& fou PR & sEEr SuEs
HTA

(D) s P PR & TR 3
e Refddt & sEEx SuEe
HTI

e w3 Jem § AF-aE-a
i Aot ek 8w E 2
(A) 7€ |99 FERa 30 A

(B) T e % =g &

(C) & # fasm Rva & s=gmT A
(D) A @t 3 =T A E
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A man stands in front of a mirror and
find that his image is larger than himself.

The mirror is :
(A) Convex

(B) Concave
(C) Plane

(D) None of these

Major objective of

Science Exhibitions is to :

organising - of
(A) grade students on practical skills.

(B) provide opportunity to students to
compete with others.

(C) provide opportunity to students to

showcase their creative ideas.

(D) provide opportunity to students to

enhance their academic

performance.
What personal abilities can be developed
by studying innovation science ?
(A) Developing new ideas
(B) Studying social sciences
(C) Studying a single science subject

(D) Study of scientific discoveries
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frfafea % & 29-91 & &R W03
e |e@ w& Feaqel @ HEEE
ot ® ?

(A) GrefarEs (B) @ifzEm
(C) Hfewad (D) HifdEw

Fgued § o AT B e § Rea
L

(A) &z

(B) THEH

(C) w&gHsH

(D) TN Hee

74 B9 @ 3 Fe 4 A9 w ¥
a9 39 fefy ® a9 99 ¢

(A) s STem

CIR:E

(C) T A& ¥ TEs A

(D) STt T&m

frafefeg % @ o1 S @ @
T Hia # 7

(A) Fgfer
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MM
P

139. Which one of the foliowing is the most
significant and essential mineral for our
body ?

(A) Potassium (B) Sodium

(C) Calcium (D) Magnesium

140. Where is the ozone layer found in the

atmosphere ?

(A) Troposphere
(B) lonosphere
(C) Mesosphere

(D) Stratosphere

141. When we apply oil on the hings of a door,
then in that case the friction will be :

(A) Increased
(B) Decreased
(C) Disappeared completely

(D) Remain unchanged

142. Which one of the following is the
renewable source of energy ?

(A) Petroleum
(B) Coal
(C) Nuclear fuel

" (D) Wind energy

N
e

P.T.O.
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SET-C

=&

T BT ? e

(A) 3:1 (B) 1:3

(C) 1:4 (D) 4:1

frr 3 § 8 M5 o9 F 930 B
AT g ?

(A) GrefEm SR FifREE
(B) Afemw i F=ifas
(C) tghiFmm Jir difean
(D) G R RifeFH
‘TEfET I B @
(A) ¥ &

(B) TH4 |

(C) & |

(D) % |

% qgwvee & CO. &ua: b wram
gde?

(A) & &
(B) et &
(C) Wl A
(D) Bt &
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The ratio of Nitrogen to Oxygen in"the

air is approximately :
(A) 3:1 (B 1:8

(C) 1:4 (D) 4:1

Which of thé following metals are
stored in kerosene oil ?

(A) Potassium and Magnesium

(B) Sodium and Magnesium

(C) Aluminium and Sodium

(D) Potassium and Sodium

‘Pashmina’ is obtained from :

(A) Sheep

(B) Goat
(C) Rabbit

(D) Yak

Plants take CO, from the atmosphere

mainly through their :
(A) Stems
(B) Roots
(C) Leaves

(D) Flowers
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147. O JEYH GG B D 9 B H9 o 147. The mechanism of breathing in Class-
TP AT G A% ¥ w©n 3 e VIl should be explained by teacher in
SART T T B effective way by using :
(A) =ré (A) Chart
(B) aehIfaid IV (B) Improvised apparatus
(C) J&TH (C) Text-book
(D) Sotgodio (SR 22 AHFR) (D) O.H.P. (Over Head Projector)
148. A, ZOHE, SN, dR-QdR SR 148. Projects,  assignments,  quizzes,
& 9arT B @ - discussion etc. are applied for :
(A) TR Hedidhe ?g (A) Summative evaluation
(B) T&TIoR W%@ (B) Formative evaluation
(C) v Heais g ' (C) Regular evaluation
(D) ¥ & B T& (D) None of these
149. g% & gE@Ig T 3 feiarad 3 8 149. The magnetic property of a magnet cannot
e & e 8 R o g 7 " be destroyed by which of the following ?
(A) &2 § de W (A) Hammering
(B) ™ FE | : (B) Heating
- (C) FOR §dE W P & (C) Dropping on a hard surface
(D) T&FH & o : (D) Boiling -
150. 3 & Y 1 BF-81 9T Ao F w9 HF 150. Which part of the S plant can be
s fear s @ ® ? used as food ?
(A) &1, T, Gl (A) Fruit, stem, flower
(B) %, T, 8 (B) Fruit, leaf, root
(C) %e, S8, o (C) Fruit, root, stem
(D) G, 7, & (D) Flower, root, fruit

SET-C ﬂ P.T.O.
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e =g
Social Studies

WA HeuE A aEd AgEE getaa
?:

(A) TET & § -

(B) FIeqHE® WA & fag s &
(C) H-950 & YT I 3rgar |

(D) F=-ia w29t $ genEd |

o FE-vill # RefiEt &t fafawar &
TE YT @ & S et #toowe
7% ¥ sEun @R @ fu
fr=foafea & 4 feg ool @& &6 7

(A) R 3 999 eRg-scee® ianmT
H A=A F9n

(B) 9re H I A€ | Tor 31 & AT
qhE A

(C) TR 3 % T & R 5l W
PR SR &N e I ffea
A T A W T
T

(D) 9RG & T & d9 Ff BErR’ w
ey frgem

T e $ e oAm § s
@rgEl SR FREAE 9 S g 7

(A) TEX S HEE
(B) HeENg FHa<T
(C) ¥erdNg o
(D) T ()

91.

92.

The X" schedule of the Constitution of

India deals with :

(A) The National Fiag

(B) Privileges of minority communities

(C) Disqualifications on grounds of
defections

(D) The administration of
Territories

Union

You are teaching 'Unity in Diversity’ to

the students of class VIIl. Which of the

following activities would you do to
make the students understand the
concept effectively ?

(A) Prepare ' a model of the hydro-
electric project near the school.

(B) Conduct a test after the lesson is
thoroughly taught.

(C) Present a feature on the different
dance forms of our country and
evaluating their underlying
similarities and differences.

(D) Write an essay on the river
disputes between States of India.

in which part of oceanic topography,
trenches and canyons are generally
observed ?

(A) Deep sea plain

(B) Continental shelf
(C) Continental slope
(D) Guyot '
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94, Frfefag & & F9-w G FE '94. Which of the following is the crucial
Ti$d 3 T W‘{j’f T g ? _ aspect of project work assessment ?
(A) FBIX AT AFEvE (A) Rigid grading criteria
(B) ®YE wriETd (B) Group participation
(C) ufEerr R &l = (TER) (C) Length (Size) of the project report
(D) favers e (D) Teachers preference

95. UM &N W HHERY & AGEH 95. The Ordinance issued by the Governor
duan orafy B is valid for a maximum period of :
(A) B: <8 (B) & =@ (A) Sixweeks (B) Three months
(C) 7 7 (D) @& T¥ (C) Nine months (D) One year

96. ‘I T W' TEHET ¢ ¢ 96. 'Operation Blue Star is associated with :
(A) 9 FdaE ¥ (A) Military exercise
(B) 1" e | (B) Assam Accord
(C) zfE e | (C) Dravida Movement
(D) T TS SEEE |/ (D) Narmada Bachao Andolan

g7. Frfafaa § § #9 Fwl, Rfvga &d@x 97. Which of the following will promote
gt & g g A agEr 3 ? social learning of rules, regulations and

values 7

(A) aREgrTr (A) Project work
(B) Wiﬁ-ﬂiﬂ (B) Group discussions
(C) fawama e+ (C) Book reading
(D) Fa= forae (D) Writing essays

o8. Hiftr smarr @i www w ad # = 98. In which year the 'NITI Aayog' was
ot ? established ?
(A) 2010 & "(8) 2015 % (A) 2010 (B) 2015
(C) 2018 # (D) 2022 (C) 2018 (D) 2022

99. THEW % &V 94 RA¥gE & & R 99. The Rajya Sabha can delay the
3 e JH o A B enactment of a money bill for a

maximum period of :
(A) TH HIE T (A) One month
(B) O WE % (B) Three months
(C) ©B: 9B % (C) Six months
(D) dreg At 7% (D) Fourteen days
SET-C ﬁ P.T.O.
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101.
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103.

SET-C

ferfoftan fEmmdt dei/ae! & SauaEve

3 2o 8 I A I g w1 g

(A) gra-earad (Baif2) o, 9e =

o, el s sw, gE ger

q9 ~

(B) Rwwd smr d9, y= dHE WY,
&g FEd A9, g-emad ()
w9

(C) J&A F=1d %9, & d9 %9,
g e (RfR) sw, R
3 A v

(D) J&8 dmra %9, BAwdEl w6,

2011 F FFEA 3 FFAR Frafared 3
Y 9T F FET TIEEA 9 118 7

(A) 382
(C) 216

g EaT 3 H I & 7

(A) GRS Tgwd YA HTT

(B) aMife® o= # gf& FT

(C) AT Tl & FHEE 20
(D) IqET TH

(IB) 325
(D) 117
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‘Select the correct South to North

sequence in Uttarakhand of following
Himalayan Fauits/Thrusts :

(A) Trans-Himalayan (Himadri) Thrust,
Main Central Thrust, Himalayan
Frontal Fault, Main ' Boundary
Thrust

Himalayan Frontal Fault, Main
Boundary Thrust, Main Central
Thrust, Trans-Himalayan (Himadri)
Thrust

Main Central Thrust, Main
Boundary Thrust, Trans-Himalayan
(Himadri) =~ Thrust,  Himalayan
Frontal Fault

Main Boundary Thrust, Himalayan
Frontal Fault, Main Central Thrust,
Trans-Himalayan (Himadri) Thrust

8

(©)

(D)

Which one of the following writs is
issued by the High Court to a lower
court to stop proceedings in a particular
case ?

(A) Habeas corpus

(B) Mandamus

(C) Prohibition

(D) Quo-warranto

Which of the- following is the average
density of population of India as per
2011 census ?
(A)- 382
(C) 216

(B) 325
(D) 117

What are the functions of Social Studies ?
(A) Providing Social Experience

(B) Increasing Social Knowledge

(C) Solution of Social Problems

(D) All of the above
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104. 3faft® §@K N & SR 14, 1946 3 104. The Interim Government which was
T 9@, # e 3 W™ o4 formed on 14th August, 1946 was
headed by :
(A) TE% J46E a1 (A) Rajendra Prasad
(B) TR TwUWIE Jed (B) Sardar Vallabhbhai Patel
(C) Sfto o =T & (C) G.B. Pant
(D) SAERE g6 & (D) Jawaharlal Nehru
105. e faeme A Femmee ghewr, e 105. Diagnostic Testing in Social Science
F T gIFE H FEE w40 ? will help a teacher to understand :
(A) gt fe # Raeft dres dad (A) Learning difficulties, a student is
5 FfeEal &1 9 &K @ 8 facing in Social Science.
(B) gTEh d g famdft & wera (B) How revision work has helped his
HE 2 students.
(€) 353 fardf R g & (C) How intelligent his students are.
(D) & # FE 9r, B R 3 (D) The part of the topic, the student
FUSH AE A B has not memorised.
106. @HHN § Fmena U & fow ReaE 106. How many seats are reserved for the
N e ¥ 7 Union Territories in Lok Sabha ?
(A) 10 (B) 20 _ (A) 10 (8) 20
(C) 30 (D) 40 (C) 30 (D) 40
107. 3= I U9 @R A ZW RyEE 107. The subject on which both the Centre
arg faedt & @ T R and State Government can legislate are
contained in :
(A) g g A (A) the Union List
(B) 73 &I A (B) the State List
(C) Tad g A (C) the Concurrent List
(D) @St =t A (D) the Residuary List
108. = & ¥ 91 G FAT N | 108. Which of the following is not an Audio
N HH IUE TE L ¢ Aids for the equipment of the Social
Studies Laboratory ?
(A) e (B) = (A) Television  (B) Radio
(C) I BN (D) 29 farEx (C) Gramophone (D) Tape Recorder

SET-C

P.T.0.
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XXIV-2
109. =1 39 & & fpw 3w & fofae e 109. ' Which one of the following countries does
& T ? not possess a written Constitution ?
(A) ey (B) BRA (A) Switzeriand (B) Britain
(C) T (D) Jo THo To (C) Canada (D) U.S.A.
110. o RE  sgEeE W 110. Social science research primarily
et & & 5y gsfd «w it & relies on which of the following
L method ?
(A) SERTIIEN SR (A) Laboratory experiments
(B) IRIG 9T (B) Mathematical calculations
(C) &3 FaaE 3 | (C) Field observations and surveys
(D) S Aeeryer (D) Genetic analysis
M. %3 PN ol S 35 © & 111. Who among the following is conducted
9T 95 @ g 7 the Oath of office to the President ?
(A) TEHAT (A) The Prime Minister
(B) WHa W (B) The Speaker of Lok Sabha
(C) 9T F ITUSAM (C) The Vice President of India
(D) 9RG & §& <M (D) The Chiet Justice of india
112. ‘Tuf RO OF ‘GHPEE 9= # A9RGE 112. The words 'secular' and ‘socialist' were
dfeem @ g # Sier W™\ added to the Preamble to the Indian
Constitution by the :
(A) SaoEd dees 290 (A) 39th Amendment
(B) IFaIiemd Heigd & (B) 41st Amendment
(C) sarferad daMed B (C) 42nd Amendment
(D) Srafead HMew & (D) 44th Amendment
113, 90 SBT3 T 9 g 113. The collection of weather information
o TF ! JEET 8 by using weather instruments is an
example of collecting :
(A) T el H (A) Tertiary data
(B) SAftE aiipet & (B) Generic data
(C) sty siiwet & (C) Primary data
(D) f&ias siEst & (D) Secondary data
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e

frefafeg & & f9-91 s 99 @
JaTE B ?

(A) AT 7 a2 i g

(B) fausr T=iew o R & amn
TF JFEAR F AW

(C) e ¥ IHe I/EE 3 A
e UEE an e T & sEd

(D) W Fif W O e sRte

e daufhs d9ee 3 deaq e 3
HT F TEa B = ¥ 2

(A) 4237 TMgT &

(B) 4431 HMaT &

(C) 86dT FMEF &I

(D) 99T HMET ZW

g grien AffE Ree ad oG
fepa T &1 ?
(A) 1953
(C) 1955

(B) 1954
(D) 1956

2011 @ TN B S §
frfofes § & 59 S99 ¥ =8 39

ferraT el fear T 7
(A) fesd (B) zRaER
(C) STl (D) 399 Ris TR

qa § dfgge & deves otk oo @t
e ®

(A) 399 &% 3

(B) &A@ U=l &I

(C) F= AT TF Il B &V
(D) T4 & HeHid T F= &N
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Which of the following is an example of

a primary source ?

(A) A Biography of Bhairab Dutt Pande

(B) A Newspaper article reporting on
Chipko Movement

(C) A diary written by Shekhar Pathak
during the Askote to Arakote
Abhiyan

(D) An encyclopedia entry on
French Revolution

the

By which Constitutional Amendment,
The Right to Education is associated ?
(A) 42nd Amendment

(B) 44th Amendment

(C) 86th Amendment

(D) 99th Amendment

In which year the 'State Reorganisation
Act' was passed ?

(A) 1953
(C) 1955

(B) 1954
(D) 1956

Which among the following districts of
Uttarakhand recorded the lowest sex
ratio as per 2011 census ?

(A) Tehri (B) Haridwar
(C) Almora (D) Udham Singh Nagar

In India an Amendment to the

Constitution can be initiated by :

(A) the Centre alone

(B) the States alone

(C) both Centre & States

(D)‘ the Centre with the consent of
States

PXEZO.
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119. fr=fofea ¥ § -1 @fe Jcave & 119. Which of the following mineral is

qgY WEn § grEr S # 7 abundantly found in Jharkhand ?
(A) dfFEEe (8) Frim (A) Bauxite (B) Manganese
(C) & @™ (D) §n (C) Iron ore (D) Gold
120. 1 a@R § § 29 90Rs SaEiad 120. Which one of the following governments
% fera ® & S 8 7 operates on the principle of collective
responsibility ?
(A) HEEES (B) HAHEIHS (A) Parliamentary (B) Presidential
(C) H9/i® (D) THH (C) Federal (D) Unitary
121. W 99 3 iR amd v 99 &= 121. Match the following rulers and
I 0 % 3% 4 Pam e - g@Ee dynasties of North India with the
AR @ T e A R R e centres of their power — Read the List-|
q 7 W 1 ¢ and Listdl and select the correct
answer from the codes given below :
gE- g List-l List-ll
a. A&l i gAE a. Maukharis i.  Thaneshwar
b. g i, e b. Pushyabhuti ii. Kannauj
c. IWF - il el c. Shashank jii. ~ Vallabhi
d. % iv. @Tw A d. Maitrakas iv. Bengal Gauda
ge : Codes : _
a. oD rC ga 0 esad
(A) i i i v (A i i il v
®) i i i v @ i i i v
(o4 I A T S (C) iv i i i
©)ii i v i O)ii i iv i
122. Fr=faiEg & 8 298 FEPE 9 122. Which of the following ocean current is
oot g7 A ™ wEag & R responsible for the warm climate of
IqEE B ? Western Europe ?
(A) FIRE a0 (A) Kuroshio current
(B) &4 g1 (B) Canary current
(C) TR g7 ﬁ (C) Labrador current
(D) TE BH (D) Gulf stream
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E1571

FFA B 7 it § 99 0w g
F gHT T8 41 ?
(A) et
(C) =Jm=T

(8) wXdt
(D) F%2

PR $ SR W, ffefea # |
JAUEIE H HAE-AT GEH g USH
IR ?

(A) Pm #¥e Tsfia sam
(B) T TS IEA
(C) M= Ty FaH
(D) T TS FE

Fr=ifea & ¥ #9-T1 a6 & e,
T, aete iR shwmsT a9 ?

(A) I AEE
(B) 2gaY

(C) wier affax
(D) wel fEe

fr=ifeg & B9 e e /sreEas
# qRufE R g=fa 2 ?

(A) gREem &y

(B) warmemen fafy

(C) Wra-g& faf
(D) F@F FE Ft fafy

Fr=ifea & ¥ B8 9 saifa @ 5%
3w F o A e ?

(A) wHereT

(B) THo Tdo &ail

(C) do o foes

(D) THo To for=m
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Which among the following was not a
type of land during the reign of Akbar ?
(A) Polaj (B) Parauti
(C) Chachar (D) Kankut

According to area, which of the
following is largest National Park in
Uttarakhand ?

(A) Jim Corbett National Park
(B) Gangotri National Park
(C) Govind National Park

(D) Rajaji National Park

Who among the following travellers was
a doctor, political, philosopher and
historian ?

(A) Duarte Barbosa

(B) Tavernier

(C) Francois Bernier

(D) Roberto Nobili

Which among the foliowing is a traditional
teaching method of Social Science/
Studies ?

(A) Project method

(B) Laboratory method

(C) Text-book method

(D) Story telling method

Who among the following was regarded
as the father of Indian Unrest ?

(A) Mahatma Gandhi

(B) S. N. Benerjee

(C) B.G. Tilak

(D) M. A.Jinnah

P.T.O.
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Fr=ifea & & P-w e T=9 3
FA F g1 AT F IE B B 7

(A) 590
(B) foad

(C) re
(D) §rEt

fraifea e @ ARG & 78 T
R FaRgT & 7

(A) F1 AR MeEd
(B) el S grwar

(C) Fmwzm AR Fom
(D) F®m ST FHa

frfafea & 4 g ofiRafes o= #
s g= Nefafquar S =

2?7 : ~

(A) 3= (B) #&eaw

(C) a5t = (D) 9 & XM

gl % aqgesd H FefaiEd d 9
PR WA 3 @ gER s A
gee afea B & ?

(A) &9 Wve®  (B) §9AY A=
(C) ¥ §vsd@ (D) M 7=

frifea & 4 5 ¥ 9@ & <M,
fw Pew FU B WEFRG B B

¢ ?
(A) 1757 (B) 1761 ﬁ
(C) 1765 (D) 1773
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Which of the following

refers to the invasion of the Hunas

inscriptions

during the reign of Skandagupta ?
(A) Mathura

(B) Bhitari

(C) Junagarh

(D) Sanchi

Which among the following two rivers,
the Raichur doab is situated between ?

(A) Krishna and Godavari
(B) Godavari and Tungabhadra
(C) Tungabhadra and Krishna

(D) Krishna and Narmada

Which of the following ecosystem is
characterized by high biodiversity and
dense vegetation ?

(A) Tundra
(C) Rainforest

(B) Desert
(D) Grassland

In which of the following layer of Earth's
atmosphere, the
phenomena occur ?

most weather

(A) Troposphere (B) Stratosphere
(C) Mesosphere (D) Thermosphere

Which among the following years, the
Diwani of Bengal was transferred to the

East India Company ?
(A) 1757 (B) 1761

(C) 1765 (D) 1773
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24

Prefofes & 3w # A

el # waE H A AR AH
fasarelt & g § gEtaa B 7

(A) HFE S

(B) e st

(C) H-Tofees e

(D) anf¥H i

Ta # frafafea & § 29-9 &3 o
g9 Saffaud 3 ol s o # 7
(A) af¥Edt qe

(B) art I

(C) T (F%1) | TR

(D) Rig-im & ¥

‘Rueg Rew fFrefofes § 4 A RA
i o
(A) o
(B) 10 Ry=iT
(C) 8 3T
(D) 9 A=

Prafofea & & & Rt ‘afta aw
& 8 ?

(A) TETH-FIE A9
(B) Fardl-aul Ay
(C) Tam-&T AY
(D) TTd-HIRY A"
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Which. of the following branch of
Geography is related with the study of
landforms and natural features of the

earth's surface ?

(A) Human Geography

(B) Physical Geography

(C) Geo-politics Geography

(D) Economic Geography

Which of the following in India is known
for its rich biodiversity ?

(A) Westem‘Ghats

(B) Thar Desert

(C) Deccan Plateau

(D) lndo-Gangetic Plain

‘Himalaya Day’ is celebrated in which of
the following day ?

(A) 9th September

(b) 10th September

(C) 8th August

(D) 9th November

Which of the following clouds known as
‘Thunder cloud" ?

(A) Cirro-cumulus clouds
(B) Cumulo-nimbus clouds
(C) Cirro-stratus clouds

(D) Strato-cumulus clouds

P.T.O.
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RY T g ¥ A oW

qﬁ-t gE-i
a. e BEE i WO FST
e
b. IR FREARA ii. o S
AUSREL

c. Haved I iil.  3TRT A
g SR LR

d. T /9 iv. @

faEm=

a. hrleid

(A i Wi v i

B) iv i i i

©) i v i i

O)ii v i i ’

frife & | frg ad Rew s U=

g gam a1 ?

(A) 1768 (B) 1784

(C) 1788 (D) 1796

G # @oEd @ 99 sﬁvs &l
TR B a1 ?

(A) s 9w

(B) @ F=@T

(C) Frmive weett

(D) S9FT H | g &

qEEAER @ 92%d ded 9% @
IR # feomgw freifea # & R
T o 7

(A) QLA

(B) e

(C) TS

(D) Y Hew
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137. Read and match List-l with List-ll and
select the correct answer from the
codes given below :

List-l List-ll
a. Ramakrishna i, Gopal
Mission Krishna
Gokhale
b. Rehnumai i. R.G.
Mazdayasan Bhandarkar
Sabha
c. Servants of iii. Dadabhai
India Society Naoroji
d. Prarthna Samaj iv. Swami
Vivekananda
Codes :
a:b e d
(A i di v il
(B) iv i | il
(C) iii v i i
O)ii v | il

138. In which among the following years, the
Pitt's India Act passed ?
(A) 1768 (B) 1784
(C) 1788 (D) 1796

139. Who was the Prime Minister of Engiand
at the time of India's independence ?
(A) Winston Churchill
(B) Neville Chamberiain
(C) Clement Attiee
(D) None of the above

140. Who among the following designed the
bazaar of Chandni Chowk, the
throbbing centre of Shahjahanabad ?

(A) Roshanara
(B) Gohanara
(C) Jahanara
(D) Mumtaz Mahal
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e

frifea & ] B8 &9 W =9 99T
F TR Sadr fegd o ?

(A) T #t @l
(B) Sgfera
(C) T & &
(D) o ™=H

fr=fafaa & @ 29 Sawave # fud

T R

(A) FET 9T AFHIH HEH

(B) WA T a1 a9

(C) Wiy Yiferaw dea

(D) TSE A | o qEEd O
iG]

freifed & & @9-@r qfo®
fe/emgs & s 2 R |99
IEEF & ?

(A) 3 drga

(B) =

(C) F=oT-91fk

(D) F==f %

Fraifa & & @9 v = @
THEN B e A A 7

(A) FHq Mad Tz

(B) &+w el Aol
(C) & Tdo EfeTred

(D) I AW A

wWe W AEfateg &
o feilr Fsmae A Fafeea
(A) = @
(B) & 1@

¥ I @
HE & ¢
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Which one of the following places, the
Harappan city Dholavira was located at ?

(A) Gulf of Cambay
(B) Baluchistan
(C) Rann of Kutch
(D) Rajasthan

Which of the following is not situated in
Uttarakhand ?

(A) Centra:l'Building Research Institute
(B) Indian Institute of Remote Sensing
(C) Indian Institute of Petroleum

(D) National Institute of Rural
Development and Punchayati Ra|

Which one among the following is the
most necessary quality of a Social
Science/Studies teacher ?

(A) Educational Qualifications
(B) Personality
(C) Will-power
(D) Understanding of Children

Who among the following was the first
to bring the ruins at Hampi into light ?
(A) Colonel Robert Clive

(B) Colonel Colin Mackenzie

(C) Susan L. Huntington

(D) Maijor Neil Borh

Which of the following line on the Giobe
marks 0 degree longitude ?

(A) Equator
(B) Tropic of Cancer
(C) Prime Meridian

ﬁ (D) International Date Line

P.T.O.
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Frafafea & @ gl 3 agavew ¥
a3 | waies JEr § P
e?

(A) TR

(B) o=

(C) Fe ST

(D) HFH

#F s dET B 7

(A) a7 9=
(B) TEAX
(C) femaa
(D) SFER

g 4w s @ Fr aguRel Bed €,
FEam & -

(A) T (B) T

(C) I & (D) =R

FHaE @ gEe  Rae-sa-e
Prifea & & Rrm s J foedt 7 B 7

(A) St (B) T

(C) sl (D) ¥

Freifea dm stwoar § Sfearaa g
H PG TBI A SR B TF
f&ar sam & ?

(A) IS
(B) #®&RY

(C) forsariggamiy
(D) Sfeeres=H
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Which of the following gas is present in
the largest quantity in terms of volume
in Earth's atmosphere ?

(A) Nitrogen

(B) Oxygen

(C) Carbon dioxide
(D) Argon

Which among- the following was the
book, 'Nalayira = Divyaprabandham'
associated with ?

(A) Vira Shaiva

(B) Nayanaras

(C) Lingayats

(D) Alvars

The boundary where two different air
masses meet, is called :

(A) Front (B) Trough
(C) Jetstream (D) Cyclones

Which among the following language,
Al-Beruni's ‘Kitab-ul-Hind' is written ?

(A) Persian (B) Turkish

(C) Arabic (D) Urdu

Which one of the following land
categories mentioned in the Chola
inscriptions is donated to Jaina
institutions ?

(A) Vellanvagai

(B) Brahmadeya

(C) Tirunamattukkani

(D) Pallichchhandam
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Question Nos. 1 to 30 are related to Child
Development and Pedagogy.

. Question Nos. 31 to 60 are related to First

Language-Hindi OR English. Candidate has
to select the guestions of only one language as
the First Language. Answer the questions of
he | hich 4 TR R i

is/ jcation form.

. Question Nos. 61 to 90 are related to Second

Language-Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one
Second Language in his'her application form. Be
careful that the language selected as First
language cannot be taken as Second language.

. Question Nos. 91 to 150 are related to

Mathematicsand Science OR Social Studies.

The candidate has to answer the subject
Mathematics and Science OR Social Studies
as selected by the candidate in the application
form.

Rough Work can be done in specified space of
the Question Booklet.

If you cannot answer a question, do not waste
time and proceed to the next one.

Do not fold or damage the OMR answer sheet
any way.

After examination submit your OMR answer
sheet to the invigilator. Candidates are
allowed to take away the carbon copy of
OMR answer sheet and Question Booklet.
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